
T
Y

P
I
C

A
L

 
S

T
E

E
L

 
D

E
T

A
I
L

S

43

H:\2018\18050002\DWG\SHEETS\S_18050002 - PLAN.DWG - S-07 - 7/30/2019 3:13:56 PM - ADARSH PATIL

N
O

R
E

V
I
S

I
O

N

SHEET

D
A

T
E

SHEET NAME

OF

DISCIPLINE

I
S

S
U

E
 
D

A
T

E
:

D
R

A
W

N
 
B

Y
:

C
H

E
C

K
E

D
 
B

Y
:

D
E

S
I
G

N
E

D
 
B

Y
:

8
/
5

/
1

9

I
S

S
U

E
D

 
F

O
R

:
C

D

55

PROJECT NO.

18050002

S
C

A
L

E
:

A
S

 
S

H
O

W
N

P
C

P

L
A

K
E

L
A

N
D

 
T

R
A

N
S

F
E

R
 
C

E
N

T
E

R

L
A

K
E

L
A

N
D

 
C

O
M

M
U

N
I
T

Y
 
C

O
L

L
E

G
E

7
6
0
1
 
C

L
O

C
K

T
O

W
E

R
 
D

R
.
,
 
K

I
R

T
L

A
N

D
,
 
O

H
 
4
4
0
9
4

STRUCTURAL

A
P

L
A

K
E

L
A

N
D

 
T

R
A

N
S

F
E

R
 
C

E
N

T
E

R

L
A

K
E

L
A

N
D

 
C

O
M

M
U

N
I
T

Y
 
C

O
L

L
E

G
E

7
6
0
1
 
C

L
O

C
K

T
O

W
E

R
 
D

R
.
,
 
K

I
R

T
L

A
N

D
,
 
O

H
 
4
4
0
9
4

A
P

S-07

SCALE:

TYP. CONT. BEAM TO W-COL CONNECTION

1" = 15' 0"
1

S-07 SCALE:

WEB CONNECTION

1" = 5' 0"
2

S-07

TYP. W-12 BEAM WEB TO W-COL

℄ SPLICE
3/16

3/16

1/4
TYP

SCALE:

WALL  CONNECTION

3/4"=1'-0"
3

S-07

TYP. W-BEAM TO MASONRY

SCALE:

TYP. 2-COLUMN FOOTING DETAIL

1/2"=1'-0"
4

S-07

VARIES

SEE S-08

1'-8" 6'-4" 1'-8"

VARIES

SEE S-08

VARIES. SEE FOUNDATION PLAN AND FOOTING SCHEDULE ON S-08

3
'
-
6

"

2
'
-
0

"

F. FLOOR EL. 769.84'

SCALE:

TYP. BEAM SPLICE

3/4"=1'-0"
5

S-07

1

1

2

"

1

1

2

"

1

1

2

"

1

1 2

"
 
T

Y
P

.

NOTE: USE ONLY WHERE INDICATED ON ROOF 
 FRAMING PLAN.

3
"
 
T

Y
P

.

3/8" STIFFENER PLATE, TYP
BOTH SIDES

W12X19/ W12X26 CONT. BEAM
OVER COLUMN.

CAP PLATE 5/8" X 10" SQ.

(4) 1" DIA BOLTS @ BEAM
GAGE X 1'-4"

W-COL. SEE COLUMN
SCHEDULE ON S-09 FOR SIZE
& LOCATION.

(6) 5/8" DIA BOLTS @ 2" X COL GAGE

(3) 5/8" DIA BOLTS, SLOTTED
HOLES IN WEB

L4 X 3 X 1/4 X 6.5" LONG LLBB

W-COL. SEE COLUMN
SCHEDULE ON S-09 FOR SIZE
& LOCATION.

W12X19  BEAM TYP, UNO.

1.5" THICK WIDE-RIB 22
GAGE METAL DECK.

GROUT BEAM POCKET
SOLID

6" X 12" X 1/2" THK BEARING PLATE ON 1"
GROUT W/ 5/8" DIA X 6" SHEAR STUD @ 8" O.C.
WELD BEAM TO BEARING PLATE MIN 3" LONG
FILLET WELD EACH SIDE.

MASONRY WALL. GROUT
CORES SOLID BELOW BEARING
PLATE, DOWN TO
FOUNDATION.

W-STEEL BEAM. SEE S-09
FOR SIZE & LOCATION.

BOND BEAM W/ (2) #5 CONT.

VERT. REINFORCEMENT.

20" DIA CONC. PIER TYP. SEE
COLUMN & BASEPLATE
SCHEDULE ON S-09 FOR TOP
OF CONCRETE ELEVATIONS.

#3 TIES @ 2"O.C. TYP.

(10) #6 VERT. TYP.

#3 TIES @ 8" O.C. TYP.
CONT. FOOTING. SEE
FOOTING SCHEDULE ON
SHEET S-08 FOR SIZE,
LOCATION &
REINFORCEMENT DETAILS.

(3) 3/4" DIA BOLTS @ 3" O.C.

SPLICE PLATE 1/2" X 9"H X
9" LONG

SCALE:

TYP. DECK EDGE SUPPORT

3/4"=1'-0"
6

S-07

BRICK OR PANELS WHERE
APPLICABLE

GALV. L6X6X5/16 SHELF
ANGLE AT BRICK ONLY.
SEE MASONRY NOTES ON
SHEET S-01 FOR DETAILS

BRICK OR PANELS WHERE
APPLICABLE

L6x4x3/8 LLV W/ 5/8" DIA
ADHESIVE ANCHOR @
MAX 24" O.C. IN GROUTED
CORES OR BOND BEAM.

SCALE:

TYP. DECK EDGE SUPPORT @ COL. LINE 4

3/4"=1'-0"
7

S-07 SCALE:

TYP. DECK EDGE SUPPORT @ COL. LINE 5

3/4"=1'-0"
8

S-07

4

5

8" CMU

W12X26

BRICK

GALV. SHELF ANGLE AT
BRICK ONLY. SEE

MASONRY NOTES ON
SHEET S-01 FOR DETAILS

SEE 6/S-07 TYP. DECK
EDGE SUPPORT DETAIL

ROOF
DECK

ROOF
DECK

L3X3 X 16GA X CONT
WITH #10 SCREWS @ 6” O.C. TO
DECK & 3/8” DIA ADHESIVE
ANCHORS @ 16” O.C. TO CMU.

6-1/4"

4-1/4"

L3X3 X 16GA X CONT
WITH #10 SCREWS @ 6” O.C. TO

DECK & 3/8” DIA ADHESIVE
ANCHORS @ 16” O.C. TO CMU.

10" CMU

W12X26

ROOF
DECK

PANELS

SEE 6/S-07 TYP. DECK
EDGE SUPPORT DETAIL

ROOF
DECK

1

1
D

E
L

T
A

 
1

8
/
5

/
1

9

1

1

1

CMU

2
"

3/16

SCALE:

TYP. CHANNEL CONNECTION

3/4"=1'-0"
9

S-07

1

1

2

"

1

1

2

"

NOTE: USE ONLY WHERE INDICATED ON ROOF 
 FRAMING PLAN.

1/2"

(3) 3/4" DIA BOLTS @ 3" O.C.

PLATE 1/4" THICK X 9" HIGH C12

W12


